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V Semester 5 Yr. B.A. LL.B. (Hons.) & B.B.A. LL.B. (Hons.) Examination,

Duration : 212 Hours

December 2015
FAMILY LAW -1 : HINDU LAW

Instructions: 1. Answer Question No. 8 and any five of the remaining

Q. No. 1.

Q. No. 2.

Q. No. 3.

Q. No. 4.

questions.

2. Question No. 8 carries 20 marks and remaining questions

carry 10 marks each.

3. Answers should be written either in English or Kannada

completely.

Who are Hindus ? Explain.

BOTRNED 0TS 33T 7 $OR.

Make comparative analysis of judicial separation with divorce
under the Hindu Marriage Act, 1955.

BOTR DRBNY QR0 1955 T LRODY TYCWF T eses0d
TTY T TS TRDT BOOTIT YRS SRR,

Discuss the matrimonial bars to matrimonial remedies.

%8 TOTICNRIR QIR 088 awroqﬁﬁ%& RS

Explain the changes made in the Law of Guardianship by the
Hindu Minority and Guardianship Act, 1956.

tomR BORw @) RoTgE GHRoLE 1956 007 =Ty
SRR 308 WReHRRERYR) OR0N.
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Q. No. 5. “Therights of a female Hindu are enlarged under the Hindu

Succession Act, 1956”. Discuss. Marks : 10

“%0T0 WTAY WHACIRD 1956 T @RCDY Lome W
%5%71@55% éz%n’mﬂd ” R3FA

Q. No. 6. “Adoption in Hindu Law is a matter of Status”. Discuss Marks : 10

“8%0TR TRAIS LWRODNY, BT 20T m@édﬂdd DWOTY’. WR3FA.

Q. No. 7. Write short notes on any two of the following. Marks : 2x5=10

BN CINYTOTTR TG, T 833368 BO0.
a) The doctrine of Factum Valet

TRTRT T A0

e @

b) Dowry prohibition

ddcﬁgﬁ" QR
c) Religious Endowments.

TOFE TN,

Q. No. 8. Solve any two of the following problems. Marks : 10x2=20
FENT CIRPYTIOTTR add% fn’m:"gsojaﬁgt WER.
a) ‘A’ Hindu dies leaving his widow, brother and two daughters
and one son. Distribute his property.

‘e 02 &OTR 3§ TR, RABLCTT, fa?%do ésagaméﬁo, m@
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0230.
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b)

‘A’ Hindu woman dies leaving her son, daughter and brother;
son and daughter of her deceased husband by another wife.
‘A’ has property inherited from her mother. Distribute the
property.

‘2 Q02 0T WIBOIR 3§ 20030 MO TN, 20T
TEY), TWONTY TBY ABRCTOIR) ; BT, NOWS  WIROW)
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SO, TOUO.

‘A’ Hindu widow adopts a child. Later on she marries. Who
is the adoptive father of the adopted child ?
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